
  

Quel est le périmètre du carré ?

6 cm



  

Correction :

Le périmètre du carré est égal à :
6 + 6 + 6 + 6 = 24 cm

ou 
4 × 6 = 24 cm.



  

4,9 × 100   

Calculer : 



  

Correction :

4,9 × 100 = 490  



  

4,9 × 0,1   

Calculer : 



  

Correction :

4,9 × 0,1 = 0,49  



  

    Polo achète 100 objets
identiques à 2,56 € pièce.

    Combien dépense-t-il ?



  

Correction :

    Polo dépense 256 € .

2,56 × 100 = 256



  

45 min + 20 min = …... h …... min



  

Correction :

45 min + 20 min = 1 h 05 min
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